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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2017.
-Fourth Semester
Economics
INDUSTRIAL ECONOMICS
' (For those who joined in July 2012 — 2015)

Time : Three hours - Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL the questions.

Choose the correct answer :
1. Industrialization is .

(a) Closely linked with per capita income

(b) Unrelated to per capita income

(¢) Opposed to per capita income

(d) Only loosely linked with per capita income
9.  Which of the following is not c.oversd under

technological support of rationalization?

(a) Standardization (b) Marketing

(¢) = Simplification (d) Mechanization

Public sector is one in which money is invested by
(a) Few individuals

(b) Individual with govt.

(¢) Private financial institutions

(d) Exclusiv;aly by the govt.

Which of the following is not a suitable standard
for measuring size of a firm?

(a) Availability of equipments

(b) Value of output

(e) Volume of output

(d) . Amount of deficit

Who of the following has said that productivity

expresses the overall efficiency in the performance
of industry?

(a) R.W. Frensake (b) -J.M.S. Risk

(¢) Evan Claugue (d) Prof. S.C. Kuchhal
Which one of the following factors influence least
the productivity?

(a)  Local market

(b) Natural resources

(¢) Managerial capacity

(d) Quality of labour force
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